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The figures in the margin indicate
full marks for the questions.

1. Answer the following as directed : 1x10=10
oo MAIRIKE Worl SepiE Oes ¢

(a) Industrial relations are not dependent
on human resource policies.
(Write True or False)

TOIfoRE S9S>IV o] 8o o
23 | (1=l =7 [3=1 1e7R0)

(b) Trade Unions are temporary combintion
between workers and the government.
(Write True or False)

Contd.



Sl AR (2= & SN bIIR <2l e |
(317l A [zl a30)

(c) Collective bargaining is a process of
negotiation between the employees and

the representatives of the employers.
(Write True or False)

eifSfRfas Aere @l SEIIR el |
| (g @ = i)
(d) Lack of job securityisan _____ cause of

labour turnover in an organisation.
(Fill in the blank)

PIFRE FIHE TSR Gol FZS H T T
ESRISaRRED)] IR (0T A2 %7 )
(e) A domestic enquiry is an internal
investigation conducted by the to
address issues that arise during
employment. - (Fill in the blank)
ITPRTRS A M0 Bl ST ST |
(3=T1 212 75 71)

(f) A lockout without proper notice is legal.
(Write True or False)

I S SR FTESNGE (34 |
(751 = g f&730)
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(99 Who among the following is known as
the father of trade union movement in

India ? (Choose the correct answer)
OGS SR ) He oo (i T (G SRed
(T ST SR Gors 1251071 ~IfRfow 2
(&% ©eCh! IR Clered)

() Bal Gangadhar Tilak

e sl feere
(i) N. M. Lokhande

e, O3, (IR0
(i) Wadia

Jifea
(iv) None of the above

8799 DI JZF

(h) A strike or lockout is illegal when it is

commenced in contravention of section
of the Industrial Disputes Act,
1947. (Fill in the blank)

$589 b SUOIPRE RAM Wigmd o 4l

TR 5] 47D 1) ETFANCE SIS B0 2 G |
(%71 31% 97 71)

() ~Workers’ participation in management
is an important form of non-financial

incentive to the workers.
(Wnite True or False)
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sifpiaae HfSes SRHlegd JfiEE FFeR A0

RGN Tnalfd < gl Tt |
| (37=! ¢ 1% Gearsl 1)
() Mention the principal organs of the ILO.
ILO 3 &4 SRa2 SrA 541 |
2. Answer the following in brief : 2x5=10
weTe MANIIRE 53¢ ©es fdll ¢
(a) State two distinct features of industrial
relations.
Sonifale oS 76! e CaREy S 1 |
(b) Why does an individual join a trade
union ?
qEw FIGE W5 AT GOrS [ @MW 0 2

(c) What are the reasons of misconduct or
indiscipline in an organisation ?

B! FRZIS ST HF¢| A SRR ol K¢ & 2

(d). Define ‘Industrial Dispute’ under the
Industrial Disputes Act, 1947.

it AW i3 S984% TE® Smiifte
@aws gl W |

(e) Discuss briefly the different stages of
workers’ participation in management.

AABEe i SrR*ezes [fen 2w [aw
B ST |
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3. Answer the following questions in short : fany
four) 5x4=20

weT TRIERE ©& f51<1 8 (Rhizan 1)

(a) Explain the role of employer and the
State in maintaining smoth industrial

relations.
T2 SO A IE12 I Heees S
%A el 3efet 4 |

(b) Briefly explain the situations under
which the Registrar of Trade Unions may
cancel the registration of a Trade Union.

(5T 2T 2GS (T8 28T 2GR o
T[RA »[l +fSERos e vy i 10 |

(c) Explain briefly the reasons for failure of
Works Committees.

T2 eTO R PRI bY(E IG5 |

(d) Explain the reasons of employee

absenteeism.
TN SR SRR IR &0 |

(e) Discuss the conditions of layoff under
the Industrial Disputes Act, 1947.

SO KM Sz 5897 TIT® BIFRpIfed
DR RACE SIS 541 |
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(f) Discuss briefly the provisions of the
Industrial Disputes Act, 1947 in regard
to closure of an undertaking.

@B STlel IF TR e SO KA SNz
55899 RYFPRRI [IC HICF 0] 1 |

4. Answer any four of the following questions :
10x4=40

TS A 2R fRepizat Bifebie el a8

(a) Discuss the various objectives of
industrial relations and the factors
affecting it in the changing
environmental conditions. 5+5=10

e ToRa [ies Srae) o 2f<afos
TEieE AR 2RkEee 20 2eie T4
IR [RAC A 1 |

(b) Discuss the origin and growth of Trade
Unions in India.

CATS (56 2SI Besife S e R
RIGIPRIEIN

(c) Briefly explain the various types of
collective bargaining in an industrial
setup. Discuss the essential conditions

for successful collective bargaining.
2+8=10
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Crifas skt [ien 4&e[ AR Re vaweR R
DR IR | 72T AN RS w1 I ARG 17
SRS KA ST 3541 |

(d) Discuss the evolution of industrial
relations in India.
41|

(e) Explain the distinct features of the
Industrial Employment (Standing
Orders) Act, 1946. Also discuss the
matters to be presented in the draft
standing orders by the employees.

5+5=10

el FHACE (ZRI SI0™) 2, S58Yq
IR @R A T | TS [l T
AR BRI S Wb SAZIo R Sl
[EEREPESREERAS G

(f) Explain the meaning of ‘grievance’. In
the context of industrial relations,
discuss the appropriate procedure that
can be adopted for grievance handling.

2+8=10

eoq wi7ifes B I@ie 74l | Swifale A=Fe
(DS ST #AG Fe7ies J1ta 217e T/ 7191
CoTE 2Imod KA SACEALG F41 |
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(g) Discuss the issue of multiplicity of Trade
Unions in the Indian scenario. Also
explain the provisions for recognition of
Trade Union as guided by the Trade
Unions Act, 1926. 5+5=10

oo AARMROS (FE 20T I299 K]
STEAB | FNTO (S 20 B2 SoIVT
1a OIS (58 20Ea TIPS WAl [T
AR < |

(h) What are the various provisions of safety
of workers under the Factories Act,
1948 ? Explain.

JRA A2, 5o 8bI T o X =1 [foq
R 5 =6 2 1R <51 |
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